MATHS

BOOKS - PEARSON IIT JEE FOUNDATION

FRACTIONS AND DECIMALS

1.C d 13
-Compare — and —.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_jWjAKZZZChQ7

3
2. Convert ? into a mixed fraction.

o Watch Video Solution

2
3. Convert 8’ 5 into a improper fraction.

o Watch Video Solution

e 1 4 5
4. Slmp|lfy: E + § —|_ 5

o Watch Video Solution

1 3
5. Simplify: % + 32


https://dl.doubtnut.com/l/_Vfk2PXdbdCQU
https://dl.doubtnut.com/l/_HigV0p3uwvhu
https://dl.doubtnut.com/l/_a5Z2Awetg37S
https://dl.doubtnut.com/l/_jXDmt3CRSovr

Answer: C

o Watch Video Solution

6. Simpli 1’1 3’1'4’7
. Simplify: ﬁx 77417

o Watch Video Solution



https://dl.doubtnut.com/l/_jXDmt3CRSovr
https://dl.doubtnut.com/l/_7015nGcsFzN2

7. Find the sum of 1.4 and 2.23.

A. 3.63

B. 5.53

C.2.89

D.7.23

Answer: A

o Watch Video Solution

8. Find the difference of 47.16 and 39.17.

o Watch Video Solution



https://dl.doubtnut.com/l/_CSK9pBs3TLsC
https://dl.doubtnut.com/l/_keADX2fyMNct

24
9. Convert %5 into a decimal fraction.

o Watch Video Solution

10. Simplify: 27.47 x 10

o Watch Video Solution

11. Divide 8.4 by 6.

o Watch Video Solution

12.C 2 d L
-Compare = and .



https://dl.doubtnut.com/l/_61LLXNcjrzZw
https://dl.doubtnut.com/l/_Iydc1tMBuMpt
https://dl.doubtnut.com/l/_r5O88O00qz4b
https://dl.doubtnut.com/l/_FrT3RBC1AAqP

\ o Watch Video Solution

13. Convert 9 into a mixed fraction.

° Watch Video Solution

2
14. Convert 8’ 5 into a improper fraction.

o Watch Video Solution

. ... L 4 5
15. Simplify: 3 + 3 + 5

o Watch Video Solution



https://dl.doubtnut.com/l/_FrT3RBC1AAqP
https://dl.doubtnut.com/l/_6zKadn3DH3df
https://dl.doubtnut.com/l/_dyW3LLtFXFZf
https://dl.doubtnut.com/l/_fikUZ99Vie21
https://dl.doubtnut.com/l/_Edm590x8mlJ4

4 1
16. Simplify: 9 + 3 %

o Watch Video Solution

17. Simpli 11 31 '47
. Simplify: 11>< EEEE]

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Edm590x8mlJ4
https://dl.doubtnut.com/l/_DUE7es0KMs6S

18. Find the sum of 1.4 and 2.23.

o Watch Video Solution

19. Find the difference of 47.16 and 39.17.

o Watch Video Solution

24
20. Convert %5 into a decimal fraction.

o Watch Video Solution

21. Simplify: 27.47 x 10



https://dl.doubtnut.com/l/_7ToHZt0bwb1G
https://dl.doubtnut.com/l/_It9VqvBbafjT
https://dl.doubtnut.com/l/_XJbnrYMtA7TM
https://dl.doubtnut.com/l/_OqBzWV7mX2Gm

\ o Watch Video Solution

22.Divide 8.4 by 6.

° Watch Video Solution

Exercise Very Short Ans Type

1.4/3is a/an

(proper/improper) fraction.

o Watch Video Solution

2.4/3is a/an (proper/improper) fraction.



https://dl.doubtnut.com/l/_OqBzWV7mX2Gm
https://dl.doubtnut.com/l/_nryftrKvEkLp
https://dl.doubtnut.com/l/_WnD5IYjWNspq
https://dl.doubtnut.com/l/_IxbRjoMXixxH

o Watch Video Solution

Very Short Ans Type

1.5/5is a/an (proper/improper) fraction.

o Watch Video Solution

2.6/7is a/an (proper/improper) fraction.

o Watch Video Solution

3. Convert 9/2 as a mixed fraction, the answer is



https://dl.doubtnut.com/l/_IxbRjoMXixxH
https://dl.doubtnut.com/l/_cUA7htei1Vel
https://dl.doubtnut.com/l/_UsD3YfrRdade
https://dl.doubtnut.com/l/_xT9N9SqDsUPG

l QP Watch Video Solution

4.The fraction 744 /496 in its lowest terms is .

o Watch Video Solution

3 k ]
5. IfZ = E,then kis

A3
B.4
C.6

D.9

Answer: D


https://dl.doubtnut.com/l/_xT9N9SqDsUPG
https://dl.doubtnut.com/l/_QiNdm5WmkZn2
https://dl.doubtnut.com/l/_Expn7x7NwAoj

° Watch Video Solution

6.7 /9 is equivalent to

A.14/18
B.35/45
C.56/72

D. All of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Expn7x7NwAoj
https://dl.doubtnut.com/l/_MBAw3syCMVse

13— =
7.13=
A.65/5
B.72/5

C.69/5

D.17/5

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_QVBHg2G9NGSZ

8. What part of the given figure is shaded ?

What part of the given figure is shaded?

®

@) 2/3 ) 1/3
© 1/2 (d) 2/5

A.2/3
B.1/3
C.1/2

D.2/5

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_eZHZnJgdhX3I

9. Which of the following is the largest -

w >
;l,_. ow gk w|

N

o

Answer: A

o Watch Video Solution

(proper/improper) fraction.

10.5 /5 is a/an

o Watch Video Solution



https://dl.doubtnut.com/l/_RQu3WLovFCFT
https://dl.doubtnut.com/l/_IUUPnW22LCtX

11.6/7is a/an (proper/improper) fraction.

° Watch Video Solution

12. Convert 9 /2 as a mixed fraction, the answer is

o Watch Video Solution

13. The fraction 744 /496 in its lowest terms is .

o Watch Video Solution

3 k .
14. I - E,then kis


https://dl.doubtnut.com/l/_PDYf4cIUyRLr
https://dl.doubtnut.com/l/_Mvl5IKwYIFH6
https://dl.doubtnut.com/l/_WPvfnbzcTYEo
https://dl.doubtnut.com/l/_pAU2f3P2l9pG

A3

B.4

C.6

D.9

Answer: D

° Watch Video Solution

15.7 /9 is equivalent to

A.14/18
B.35/45

C.56 /72


https://dl.doubtnut.com/l/_pAU2f3P2l9pG
https://dl.doubtnut.com/l/_6QJ50hN6ZEvr

D. All of these

Answer: D

o Watch Video Solution

16.13' = =
5

A.65/5

B.72/5

C.69/5

D.17/5

Answer: C

N


https://dl.doubtnut.com/l/_6QJ50hN6ZEvr
https://dl.doubtnut.com/l/_dUYnqj3W1r7m

| ¥ Watch video >Solution

17. What part of the given figure is shaded ?
e

A.2/3

B.1/3

C.1/2

D.2/5

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_dUYnqj3W1r7m
https://dl.doubtnut.com/l/_njRLqqHHZ7JZ

18. Which of the following is the largest ?

A2/3
B.4/7
C.3/5

D.1/15

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_o0CgNVT8yd0S

19. Match the Column A with Column B.

_Colunin A Column B
, {Frochion of
___shuded port]

(a) % BEOR “2’3-—/3
® -
© %
@ 3

° Watch Video Solution

201—|—3—_
.E Z_

[ o Watch Video Solution


https://dl.doubtnut.com/l/_1cmEd3lubRtw
https://dl.doubtnut.com/l/_5D2mYgzxfeA7

213 . 2_
ogng_—

o Watch Video Solution

2
22.—01“3’é =
5 7

o Watch Video Solution

23 2Jr4><4’2—
7 3|

° Watch Video Solution



https://dl.doubtnut.com/l/_5D2mYgzxfeA7
https://dl.doubtnut.com/l/_WgGD9ymBjpmV
https://dl.doubtnut.com/l/_9kWZdIEuS69O
https://dl.doubtnut.com/l/_KpTeF4bsPtFe

()

o Watch Video Solution

25. Sujith travels one-third of a distance. If the dis-tance
is 12 km, then find the remaining distance that he would
have travelled (in m).

A2

B.4

C.6

D.8

Answer: D


https://dl.doubtnut.com/l/_G56dP59Iq2wO
https://dl.doubtnut.com/l/_u5GzupShkTL2

o Watch Video Solution

26. Total strength of a class is 36 students. If three-
fourth of the students is taking an examination from
the class, then how many students are not taking the
examination ?

A.9

B.12

C.28

D. 27

Answer: A

[ o Watch Video Solution


https://dl.doubtnut.com/l/_u5GzupShkTL2
https://dl.doubtnut.com/l/_3c6LxqpgTlHd

27. Anil travels from place A to place B and Akhil travels
form place A. Anil travels one- third of the distance and
Akhil travels one-fourth of the distance. The distance
travelled by Anil is olkm more than the distance
travelled by Akhil. What is the distance between place A

and place B ? (In km)

A9

B.10

C.12

D. 18

Answer: C


https://dl.doubtnut.com/l/_3c6LxqpgTlHd
https://dl.doubtnut.com/l/_k4C4yvB1JpQI

° Watch Video Solution

A.3/2
B.5/4
C.9/8

D.11/8

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_k4C4yvB1JpQI
https://dl.doubtnut.com/l/_pO9J7BKN7frL

AT/3
B.4/3
C.3/10

D.6/17

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_8vPqF3xK0kHu

30. Match the Column A with Column B.

(1 1) 301
@ |(—+- 2z
) 2 3)of6 () () (4 S |of 12

(1 1) 5 2
(b) k3+€)of18 () @ (E--3-)of6

1 1) 5 1
(¢ (Z+5)of12 ( ) (@ (Z'—‘Z‘ of 12

1 1) 3 1
(d) ('5‘+-6'}0f30 () © (z--é of 12

o Watch Video Solution

31.23.143 + 17189 =

A. 40.202


https://dl.doubtnut.com/l/_O5TpT3YN2mYI
https://dl.doubtnut.com/l/_dO2181vAXyqz

B. 40.322

C. 40.302

D. 40.312

Answer: C

o Watch Video Solution

32.36.121 — 33.429 =

° Watch Video Solution

33.0.00125 x 200 =

[ o Wiat A \tAdAaA CAlLiidkiAan


https://dl.doubtnut.com/l/_dO2181vAXyqz
https://dl.doubtnut.com/l/_1dCfUEEC7dfD
https://dl.doubtnut.com/l/_DlmBhbp7V5kp

L YVOULLIL VIMGY SWUIVGIDEE

34.50.2 + 1.255 =

o Watch Video Solution

35.23 +44+6.9 =

o Watch Video Solution

36 120
25 T

A. 0.048

B.4.8


https://dl.doubtnut.com/l/_DlmBhbp7V5kp
https://dl.doubtnut.com/l/_WFd1XLek8vZJ
https://dl.doubtnut.com/l/_dYLddFqXwUnp
https://dl.doubtnut.com/l/_sWCrYBSJS4F8

C.48

D.4.08

Answer: b

o Watch Video Solution

37.1.36 =

24
25
14
25
32
25
34
25


https://dl.doubtnut.com/l/_sWCrYBSJS4F8
https://dl.doubtnut.com/l/_E1V9p8Jy2ZMS

Answer: d

o Watch Video Solution

38.18 — 13.169 =

A. 3.831

B.4.831

C.5.831

D. 2.831

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_E1V9p8Jy2ZMS
https://dl.doubtnut.com/l/_aYh0enJzNDQZ
https://dl.doubtnut.com/l/_Sxy09xoVNVmX

39.37.23 = 10 =

A.372.3

B.3.723

C.37.23

D.0.3723

Answer: B

o Watch Video Solution

40.1.608 ~+1.34=__

A. 3.2


https://dl.doubtnut.com/l/_Sxy09xoVNVmX
https://dl.doubtnut.com/l/_9rPjQHyWAfZr

B.2.2

C.1.2

D.4.2

Answer: C

o Watch Video Solution

41. Match the following Column A to Column B

(a) 0.456 X 0.3 ()

(b) 0.734x02 ()

(c) 0.0739x2 () () 0.1478
()

(p) 0.1468
(@ 0.1368

(d) 0.0689 X 2 () 0.1378

° Watch Video Solution



https://dl.doubtnut.com/l/_9rPjQHyWAfZr
https://dl.doubtnut.com/l/_wyxJwjoi1GWX

Short Answer Type Qns

1. List out the proper and improper fractions from the
following .

(@7/2,(b)3/4,(c)5/2

(d)11/13,(e) 7/15,(f) 17 /13

(g) 72/21,(h) 81/87,(i) 16 /15

(j) 20/ 29

° Watch Video Solution

2.Compare

(i) 27 /4 and 31 /50


https://dl.doubtnut.com/l/_wyxJwjoi1GWX
https://dl.doubtnut.com/l/_pnWNGoU5aRqP
https://dl.doubtnut.com/l/_dMsFHphfDc82

(ii)4/5and 7/8

o Watch Video Solution

3. Arrange the following fractions in ascending order

and descending order.

i 7 13 23 20
Y915’ 97’ 21
4 11 11 22

(“) = ’ ’
5 20 157 25

o Watch Video Solution

4.Convert 6 /5 and 12 /7 as mixed fractions ?

o Watch Video Solution



https://dl.doubtnut.com/l/_dMsFHphfDc82
https://dl.doubtnut.com/l/_BZC58ww4mdmV
https://dl.doubtnut.com/l/_6joylpao7OhU
https://dl.doubtnut.com/l/_KrT5gNbiLgJC

5. Convert (i) 1% and (ii) SE as improper fraction.

o Watch Video Solution

6. Reduce 1562 /1846 and 924 /1188 in lowest terms.

o Watch Video Solution

7. Three frineds A, B and C have some money. If A has
3 /10 of the total money, B has 7 /15 of the total money
and C has 7/30 of the total money. Who has the
biggest share of the money? If the total money is ¥

1500, then how much money does A have ?

.Y l


https://dl.doubtnut.com/l/_KrT5gNbiLgJC
https://dl.doubtnut.com/l/_uH1hVXDw0MJ3
https://dl.doubtnut.com/l/_EPbzXTU1cNC1

| W Vvatch viaeo Solution ]

8. There are 125 balls in a basket. Out of which, 15 are
white, 25 are brown, 35 are green, and the remaining
are pink in colour. Find the share of the balls for each

colour in the basket.

° Watch Video Solution

9. What should be added to the sumof 1 /8 and 1/7 so

that the sumis 5/14?

o Watch Video Solution



https://dl.doubtnut.com/l/_EPbzXTU1cNC1
https://dl.doubtnut.com/l/_i0tD2g5Ifu6K
https://dl.doubtnut.com/l/_r65I666OyU0J

10. What should be subtracted from the sum of 1/12

and 1/8 so that the differenceis 1 /18 ?

o Watch Video Solution

1. Simplify:
1.4 2 1 8 5 2 9 2
373 372371 2737173

o Watch Video Solution

12. Simplify :
oL [y JLIfL, 1] 1 o Lg L 2
3 gl2 T3t T T3

° Watch Video Solution



https://dl.doubtnut.com/l/_4wOsu3e5Eshy
https://dl.doubtnut.com/l/_BnBO9ehkyXAW
https://dl.doubtnut.com/l/_wfjXKGEJJzyL

13. Simplify

12—|-22—|-32-|— -1—1002
1_5 1_5 1_5 ...... E

o Watch Video Solution

T 1 2 3 4 5 6
14. Simplify: 1’ ﬁ+2 H—l—?, 1 T + T + T

o Watch Video Solution

15. Joshna and Vijay have some chocolates, The num-ber
of chocolates with Joshna is two -third of the number of

chocolates with Vijay. If Vijay gives five chocolates to


https://dl.doubtnut.com/l/_wfjXKGEJJzyL
https://dl.doubtnut.com/l/_MOGkS7Tuqlqk
https://dl.doubtnut.com/l/_6ZWgP5SqB7du
https://dl.doubtnut.com/l/_mYpLiPILCi3i

Joshna, then both will have equal number of chocolates.

How many chocolates does Joshna have ?

o Watch Video Solution

16. Priyanka spends 2 /15 of her income on clothes, 1/9
of her income on entertianment, 4 /15 of her income on
rent, 1/3 of income on food and she saves the

remaining amount of ¥ 10, 500. What iis the income of

Priyanka ?

° Watch Video Solution



https://dl.doubtnut.com/l/_mYpLiPILCi3i
https://dl.doubtnut.com/l/_ioItfWT3Adxm

1
17. A rope of length 18’5 m is cut into equal pieces of

1’ 3—2 m each. Find the number of pieces.

o Watch Video Solution

18. Convert 7 /20 into a decimal fraction.

° Watch Video Solution

19. Convert 0.425 into a fraction.

o Watch Video Solution



https://dl.doubtnut.com/l/_UtR8jP6Xbgv2
https://dl.doubtnut.com/l/_TRvj2AOUpuYS
https://dl.doubtnut.com/l/_YXk9WrIlHfxQ

20. Simplify : 128.364 + 10.08 — 132.16 + 9.8

° Watch Video Solution

21. Simplify :

09+09%x09+09-09+0.9+0.9x0.9

o Watch Video Solution

22. What should be added to 1.834 so that the sumis 5

?

o Watch Video Solution



https://dl.doubtnut.com/l/_r9aeQWOoePKD
https://dl.doubtnut.com/l/_BMmNzusy5zea
https://dl.doubtnut.com/l/_HQvBlrMwbPwc
https://dl.doubtnut.com/l/_BA8fadox8B32

23. What should be subtracted from the sum of 1.48

and 1.368 so that the difference is 1?

o Watch Video Solution

24. By how much is the sum of 44.44 and 32.03 greater

than their difference ?

o Watch Video Solution

25. How money glasses of water is required to fill one

litre water bottle, if one glass of water is 25 mL.

o Watch Video Solution



https://dl.doubtnut.com/l/_BA8fadox8B32
https://dl.doubtnut.com/l/_6NU2gjbJ324W
https://dl.doubtnut.com/l/_hpc49ysqS6GH

26. Ram purchased 3 notebooks that each costs ¥ 20.75
and 4 pencil that each costs ¥4.25. Ram gave ¥ 100 to
the shopkeeper. How much money should Ram get back

from the shopkeeper ?

o Watch Video Solution

Concept Application

2
1. A person earns ¥ 54000 per month. He spends I of
: : 4 : :
his earnings on house rent, 9 of his earnings on other

household items and saves and remaining. What

fraction of amount is the savings in his earnings ?


https://dl.doubtnut.com/l/_ck9hUdnq8Fbo
https://dl.doubtnut.com/l/_pO19lZlM4zSj

19
45

17
45
13
24

11
25

Answer: A

o Watch Video Solution

1
2. The cost of the dozon oragnes is ¥ 43’T. Find the

cost of 2’ 3 dozen of oranges (in %).

A. 203

B203
-2


https://dl.doubtnut.com/l/_pO19lZlM4zSj
https://dl.doubtnut.com/l/_Ju5TFISRwxpe

Answer: B

o Watch Video Solution

3
3. A water bottleis 5 and = of the water is drawn. How

much water is remaining in the bottle ?

16
'35
17
'35
8
17
2
D.g

C


https://dl.doubtnut.com/l/_Ju5TFISRwxpe
https://dl.doubtnut.com/l/_1MMRguNqlkJ1

Answer: A

° Watch Video Solution

4. The length of a rope is 23.25 m. If two piece s of

lengths 6.42 m and 3.09 m are cut, then find the length

of the remaining rope.

A.12.74

B.13.64

C.13.74

D. 14.54

Answer: C



https://dl.doubtnut.com/l/_1MMRguNqlkJ1
https://dl.doubtnut.com/l/_EdR3zM7VT7ST

° Watch Video Solution

5. The weight of a piece of gold is 0.2354 kg and the
cost of gold is X2875.50 per gram. If 9.56 gm is
separated for an ornament, then find the cost of
remaining gold ?

A. 646577.42

B. 646627.42

C. 646587.42

D. 649402.92

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_EdR3zM7VT7ST
https://dl.doubtnut.com/l/_CK88sjTGssRL

Assessment Test

1.C 2 d4
-Compare — and +.

o Watch Video Solution

2.C 2’3 d2’19
-Compare 2" an 55

o Watch Video Solution

2 4 3
3. Arrange T and 7 in ascending order.

o Watch Video Solution



https://dl.doubtnut.com/l/_CK88sjTGssRL
https://dl.doubtnut.com/l/_wL3NgVIhLeQk
https://dl.doubtnut.com/l/_CrfVfSgbp6yJ
https://dl.doubtnut.com/l/_uvKi3P8q0lcC

7 11

2 4
4.simplify: (i) = + — , (i) — + —
implify (|)3+5 (u)9+18

o Watch Video Solution

7 3 8 2
5. Simplify : (i) 31 , (i) 11 3

o Watch Video Solution

co o L[l f1 2] 1 2
Smplity: 4 G137 "5/ T3 ;

o Watch Video Solution



https://dl.doubtnut.com/l/_uvKi3P8q0lcC
https://dl.doubtnut.com/l/_bROvk4Gs1g8R
https://dl.doubtnut.com/l/_81l4Z4Lev0Lq
https://dl.doubtnut.com/l/_KLrArO0ANTk9

7.(i) 4.2 + 0.27

(i) 32.45 + 45.69

o Watch Video Solution

8. (i) Subtract 9.133 from 13.012.

(ii) Substract 3.2 from 5.15.

o Watch Video Solution

9. (i) Find the value of 1.238 x 10.

(ii) Find the value of 1.31 x 1.2.

o Watch Video Solution



https://dl.doubtnut.com/l/_VvXDRkFojoeM
https://dl.doubtnut.com/l/_TWKMMNuDPUdj
https://dl.doubtnut.com/l/_ft1uZaEocwZn

10. Reduce 480 /840 to its simplest form.

o Watch Video Solution

11. Arrange the following fraction in ascending order.

2/5,3/5,4/5,5/5,6/5

o Watch Video Solution

12. Arrange the following in descending order.

5/2,5/3,5/4,5/5,5/6

o Watch Video Solution



https://dl.doubtnut.com/l/_ft1uZaEocwZn
https://dl.doubtnut.com/l/_1EpBCPSiu6ar
https://dl.doubtnut.com/l/_LHlp24qtzwEw
https://dl.doubtnut.com/l/_7dggDdmlPdx3

13. By how much is difference of 18.89 and 11.21 less

than that of their sum ?

o Watch Video Solution

14. What should be added to 6.77 to get ?

° Watch Video Solution

15. What should be added to the difference of 6.88 and

4.25to get 57

o Watch Video Solution



https://dl.doubtnut.com/l/_K2X8hkrW2wH8
https://dl.doubtnut.com/l/_7Hfybg0pLgVW
https://dl.doubtnut.com/l/_Cabad5zq2APB

Crossword

1.

Across

Y The sccong
decimal pojy,

In xzy,

Place (o e » wn

¢ right hand side of the Fractions whose denominators are different

X is calleq - Inx/y, yis called

Th A fraction whose denominator is less than the
© UM Of=17/5 and 17/5is numerator.

C Ay and y/x are said to be

to each other.
Fractions Wwhose denominators

i i the
A fraction whose denominator is more than
numerator.

are same.

o i 1000
A fraction whose denominater is 10, 100,

- 2 whole
A fraction which is a combinaten of
number and a proper fraction.

. The product of 3/8 and 8/3.

° View Text Solution



https://dl.doubtnut.com/l/_RxzrqagLwaQS

